
US
A	

Te
l: 

	8
00

.4
35

.0
78

6
	

Fa
x:

	8
00

.4
51

.2
63

2
Ca

na
da

	T
el

: 	
80

0.
43

5.
07

86
	

Fa
x:

	8
00

.5
24

.2
85

3
In

te
rn

at
io

na
l	

Te
l: 

	+
1.

81
5.

39
7.

70
70

	
Fa

x:
	+

1.
81

5.
39

7.
92

47

368

St
or

ag
e 

&
 M

at
er

ia
l H

an
dl

in
g 

= Replacement Part = Accessory

www.greenlee.com

•	 Caster bolt pattern 2-7/8" x 3-1/4".
•	 Polyolefin-injected molded hard casters: stain-resistant, 	

chemical-resistant, and non-marking. 

503/603

7-1/2"

696/697

5-5/8"

	 Wheel	
			   Dia.	 Tread	  	 Ship
Cat.	 UPC		in  .	in .	 Capacity	 Weight
No.	 No.	 Description	 (mm)	 (mm)	 lbs.	 kg	 lbs. 	kg
503*	 28044	 4 Swivel	 6	 2 	 2000	 907	 22	 10	
	 	 	 (152)	 (51)
603*	 23405	 2 Rigid, 	 6	 2	
	 	 2 Swivel	  (152)	 (51)	 2000	 907	 20	 9
703†	 08420	 2 Rigid,	 6	 2	 2000	 907	 20	 9	
	 	  2 Locking Swivel	 (152)	 (51)
803†	 08414	 4 Locking Swivel	 6	 2	 2000	 907	 22	 10	
	 	 	 (152)	 (51)
696*	 15341	 2 Rigid, 	 4	 2	 1600	 726	 13	 6	
	 	 2 Swivel	 (102)	 (51)	
697*	 89189	 4 Swivel	 4	 2	 1600	 726	 15	 7
	 	 	 (102)	 (51)	
	
*��Each caster set includes (16) 3/8-16 x 1" self-threading mounting screws.

   †�Each caster set includes (16) 3/8-16 x 1" carriage bolts; (16) 3/8-16 hex nuts; (16) 3/8 lockwashers. 

caster selection chart
storage 			              caster 
	bo x			              cat no.
	cat. No.	 503	 603	 703	 803	 696	 697	
1332	 ✓	 ✓	 	 	 ✓	 ✓	

1636	 ✓	 ✓	 	 	 ✓	 ✓	

2142	 ✓	 ✓	 	 	 ✓	 ✓	

2448	 ✓	 ✓	 	 	 ✓	 ✓	

2460	 ✓	 ✓	 	 	 ✓	 ✓	

3048	 ✓	 ✓	 	 	 ✓	 ✓	

2472	 ✓	 ✓	 	 	 ✓	 ✓	

1230
1531
	5060MESH	 ✓	 ✓	 	 	 Included	 ✓	

3360	 ✓	 ✓	 	 	 ✓	 ✓	

4848	 ✓	 ✓	 	 	 ✓	 ✓	

4860	 ✓	 ✓	 	 	 ✓	 ✓	

4872	 ✓	 ✓	 	 	 ✓	 ✓	

4872R	 ✓	 ✓	 	 	 ✓	 ✓	

2260	 ✓	 ✓	 	 	 ✓	 ✓	

3648	 ✓	 ✓	 	 	 ✓	 ✓	

3660	 ✓	 ✓	 	 	 ✓	 ✓	

3448	 ✓	 ✓	 	 	 ✓	 ✓	

2072
5660L	 ✓	 ✓	 	 	 ✓	 ✓	

5660LH	 ✓	 ✓	 	 	 ✓	 ✓	

5760	 ✓	 ✓	 	 	 ✓	 ✓	

5760TD	 ✓	 ✓	 	 	 ✓	 ✓	

5860	 Included	 Included	
3548	 ✓	 ✓	 Included	 ✓

8060DLX	 ✓	 ✓	 	 	 ✓ 	 ✓

REPLACEMENT PARTS
Cat. No. 	 UPC No.	 Description
06291	 06291	 Box Caster Bolt Set (16-Bolt Kit)
08426	 08426	 Box Caster Bolt Set 16-Bolt Kit (3548, 5860 only)
27472	 50017144	 Lid Support – (L) Side
27471	 50017187	 Lid Support – (R) Side
08428	 08428	 �10 mm Gas Spring Ball Stud Replacement Kit 	

(all Slant/Flat-Tops) 
53950	 53950	 Gas Springs for 2260
53904	 53904	 Gas Springs for 3360, 4848 and 4860 Storage Boxes
53951	 53951	 Gas Springs for 3648 and 3660
04339	 04339	 Latch Repair Kit (5860)
54997	 54997	 Latch (5860)
54998	 54998	 Strike (5860)
55124	 55124	 Latch Threaded Rod (5860)
08427	 08427	 13 mm Gas Spring Ball Stud Replacement Kit (8060 DLX)
55294	 55294	 Replacement Gas Spring Kit – Shock and (2) Clips (8060 DLX)
01886	 01886	 Replacement Gas Spring Kit for 4872    

Casters

Replacement Parts

Greenlee Green Spray Touch-up Paint

•	 Closely matches Greenlee painted products.

	 Weight
	Cat. No.	 UPC No.	 Description	 lbs.	 kg

	22618	 22618	 13 oz. (384 ml) Aerosol Can of Greenlee 	 1.2	 .5	
		 	 Green Spray Paint	

	10378	 10378	 13 oz. (384 ml) Aerosol Can of Greenlee 	 1.2	 .5	
		 	 Flat Green Spray Paint*	 	

NOTE:  The color green is a registered trademark for Test Instruments, Job Boxes, Benders and Pulling Equipment.
*For Storage Boxes


